
#29-2865

7’  POOL TABLE

WILSON

 Wilson



1-1-35-910 HD

Congratulations!
We hope you will have many hours of enjoyable 
use with your new  Pool  Table!

WARNING!
This is not a child’s toy.  Adult supervision is required for 
children playing this game.  Please read instructions carefully.  
Proper use of this set can avoid damage or injury.

BEFORE ASSEMBLY:
 Did you receive   1   box? 

assembly? It is not replaceable and must be returned to the 
original place of purchase if damaged.

TOOLS REQUIRED FOR ASSEMBLY:
 Phillips and Slotted Head Screwdrivers / or Power Driver (not 
included)

 Allen Wrench (included)

PLEASE KEEP YOUR INSTRUCTIONS! 
 Your Model number is necessary should you 

need to contact us.

 Please read through this instruction book to 
familiarize yourself with all the parts and assembly 
steps.

have been included.

 

 

 

 

 

 

 

 

 

 

ASSEMBLY INSTRUCTIONS:

We recommend that two adults work together to 
assemble this table.

 The table will be assembled upside down This is a very heavy table          
  and turning it right side up will require at least two strong adults.

  to protect the top of your pool table while assembling.



Main  cabinet
1 Piece

Left leg 
2 Pieces

Right leg 
2 Pieces

End leg panel 
2 Pieces

Leg runner 
1 Piece

5/16"X1-1/2" bolt
12 Pieces

5/16"X2-1/2" bolt
12 Pieces

5/16"  Washer
24 Pieces

Leg  leveler
4 Pieces

Billiard balls
1 Piece

Cue stick
2 Pieces

Brush
1 Piece

Chalk 
2 Pieces

Triangle  
1 Piece

 Wrench 
1 Piece

#1 #2 #3 #4

#5 #6 #7 #8

#9 #10 #11 #12

#13 #14 #15

1



Step 2:

Attach the assembled leg base to the cabinet using Washer #8 and Bolt #6.

3

2

3

4

2

Step 1:

AttachEnd leg panel  #4 to the assembled leg sets using  Washer #8 and Blot #7.

2

8
6

8
6

1

8
7

4



3

Step 4:

Step 3:
Using two strong adults, carefully turn the table right side up.

Then screw in #9 leg levelers.

7

58

Attach leg  runner #5 to the assembled leg sets using  Washer #8 and Blot #7.

9



334

Step 5:
Assembly is now complete. If any adjustments for the playfield are required, 

please use the instructions below

Note: Under the Mainframe (1), adjust the Adjustable
 Bracket (15) in order to level the playfield of the 
Mainframe. 

15

15

15


